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Example: How to calculate the tension of the violin “e” 

e = 662,5 hz (if A 440hz)

F × l × O
49T =

T = 662,5 × 0,33 × 0,68

49
2

T = 9,20



49 9
0,33

= F × O ( = 445,45)



l = 49 T
FxO

49 × 3
660 × 0,68

147
448,8 0,327= = mt

...so, for the “e” of the violin:



Breaking index:

At a given length

 a string of a given material


 will break 

always at the same frequence, 


no matter the gauge.





Innsbruck Tiroler Museum



Isabella d’Este
” 

1500: “vi mando sette mazi de corde, cioè 
canti et mezanelle e sottonelle, in li quali 

mazi ge sono dozene 6 per mazo, che 
sono in tutto dozene 42. [...] Le ho facto 
guarnire a homo che se ne intende et al 
mio iuditio Vostra Excellentia serrà bene 
servita, ma de le grosse fin hora non ho 
potuto havere cosa che sii in proposito, 
ma per el primo credo mandargelle et 

bene servirla.” 





Pica Alessandrini e C. 
1858



Strands 3/4 5/6 8/9 12/15 19/25 ...

O 68 88 116/120 160/180 260 360

Violin I II/IV III IV

Viola I/III II/IV III IV

Cello I/III II/IV III IV

Doublebass I II

* as a core for...



F. Galeazzi, 
Roma 1796



February 2004, what happened?



Actual Aquila 
set Cello da Spalla
I

II

III

IV 1st double-wound

V 2nd double-wound

49 × 9
330 × 0,425 = 147

140,25 = O104 8,86kg=
T = F × l × O

49
2 O136 = 6,82kg

O190 = 5,92kg1st wound




